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reg_asym_usr RMS (ppm)
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X? I ndf 75.37 163
- Mean  -0.001563 +0.1356
6000 — pO 448.7 +182.1 F
B 16 B Std Dev 1.085 + 0.09592
4000 __ : Underflow 0
L 14
— o Overflow 0
2000 B X2 I ndf 719/7
12—
: Constant 107 £2.2
0 | [
10 Mean  0.003105 + 0.178653
B - Sigma 1.153 0,206
-2000 — s
-4000 — 6
I NN 4'
o
- . 0-|||||| i FERA EEEa sl
S ;(L:{iulolcc;acl)olrl'é‘—'&r:)m} NI TN ; : : 8 6 -4 = 0 2 4 6 8

ml—OermeruiLan 10O NN

mmm@oooooc Q00 ogoooooooomoooooooooo
OO OLOOOODOODOVOLODBOOOOODO
MMM M ] o0 mmmmmmmmmmmmmmmmm

3 DDHNDO)
L{')mmlmmmrmlr‘




reg_asym_usl RMS (ppm)
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reg_asym_us_dd (ppb)
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reg_asym_us_dd RMS (ppm)
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reg_asym_ds_avg RMS (ppm)
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